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15. Match the following :
Hill Station State
1) Mussoorie i) Himachal Pradesh
2) Shimla i) Kerala
3) Munnar iii) West Bengal
4) Darjeeling iv) Uttarakhand
(A) i, ii, iii, iV (B) iv, iii, 1, ii
(C) iv, 1, i, iii (D) iv, iii, ii, 1
QuUTBSSIS : H¢E
LOGNGUGUTLHIL_MmIs6iT LomklevLb nsh
1) wpGemh i) @uréFeligGsshb [EIE:
2) Sibevr i) Cagenm
3) epewrmm) iii) Guop@ eumisTend
4) LmigdleSms iv) 2 g8 usmer.
(A) i, ii, iii, v (B) iv, iii, i, i
(Cniv, i, ii, iii (D) iv, iii, ii, 1
16. Which hormone is associated with our immune system ?
(A) Insulin (B) Thymosin (C) Thyroxine (D) Adrenalin

BLog) GETIS SLSMLIL| LOGHTL 605 LG Qam_iyenL_w apmiGLoneT a5 ?

(A) @ehraedle (B) engGuon@leir  (Cf ewgordedien (DYoo Meallast

Assertion : Mitochondria are called ‘Power house of a cell’.
Reason : They produce energy rich ATP molecules.

(A) Assertion correct, Reason wrong

(B) Assertion wrong, Reason correct

(C) Assertion and Reason both are wrong

(D) Assertion and Reason both are correct

samm) : Lot GLrsre Mwnsser  ClFebadler QD6 o GGUEET GIGTD)

3> PS5 LIL (RS STDET.
STIesLh : Jyemau enswippeers Gupp ATP ppeuddapisear o (5SS DS
(A) spmy &M, sTgewTib Saum) (B) spmy saumy, Smyessiid &l

(C) @mpmy, snyewd @uewBid saun  (DNF&OHDI, smgewiLd (@)gess(pid &l

- 18. Match the following : EISE
" 3) VitaminC 1) high fat =

b) Avocado 2) iron
~ ¢) Seethaphal 3) fat soluble pigment
- d) Carotenoids 4) Guava
(A) 2,1,3,4 (B) 3,4,2,1 @4y D) 4,1,2,3
Quregs
a) 2.ui5e55 C 1) 985 yerey CamrpLiyy
b) euGasGLm - 2) @BLbLEF F55)
&g LpLb 3) G&rupliied sengwdaagw FnLl
d) &G eermii@Gser 4) Q& minum
DREaTAN . (B):3,4,2;:1 (C).15433, 268 2. D423
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; @ Lailghing is good for health, because it reduces the secretion of stress

GF

wee

24,.Which nuclear fusion produces energy in the sun ?
(A) hydrogen to sodium (B) lithium to hydrogen
(C) hydrogen to helium (D) hydrogen to iron
TS WSS @eavalanme @Awefls ppp 2 eunSeTpS ? :
(A) eapt ggellednhg Gemywib (B) 3B wsHI B AD-IB
(Cheapt-sgeled@ig) afedun (D) eanLsgalelGs2! @@y
95, Cryogenic propellants used in rockets are at
(A) very high temperature (B) high temperature
(C) room temperature (D) very low temperature
@yrr&@&l.'.@amﬁsil LwSTL@SSLILEL ByrGur Qgalls QUsES Glmeire e
(A) s 98 Glouliflencouiey @@L
(B) 55 CeuiuBlenevuiled (@)5sELd %ﬁ
 (C) sip Qauliufleaeuiles @)BEEL .
(Dplﬂsés Gopps Gaiufleaeuis @) @@L

by and makes us to relax.

(A) Adrenal gland (B) Thyroid gland
ity 2L éE pevwg gblerafled G,
FISSOR GODSSI FSHTELD Quevry Flenawd &

(C) Gastric gland (D) Thymus gland

Glsmewr(p aUBSHTDSI-

(A Mered sid (B) engomii® &id
' (C) &gewr &gl (D) ewgLoav Foid
. A sudden change in the genetic material of an organism is called
(A) Hybridization (B) Natural Selection
(C) Mutation (D) Mass Selection

@i 2 fersGler wrytiQurmeled HieGyear UG LomHMLD
@ PsELILRSDSI-

(A) slini$sLd (B) Qupmss Gsia
(@S onppLb (D) &L (®S Csiay

28. In which of the following plant food is stored in stem ?
(A) Beetroot (B) Carrot (C) Potato (D) Radish
GHTaIBISTEUDDIET TSSTAITLD SEWTLY.6D 2-GHTeH e GelhlEHeTmsl ?
(A) Fem (B) GagL— Y&
(C) 2 mewers&lpris& - (D) perarm&) B

29. Choose the correct pair.
(A) Vitamin A — Rickets (B) Vitamin D — Xerophthalmia

(C) Vitamin B, — Beriberi (D) Vitamin B, — Scurvy

sfwner @ eemraw Czip0150
(Apemaur L thleir A — M&Gls L eV (B) enau._1Bleir D — EGpmiigmevLlwm

hormone secreted

SasLIL] P LT L —

eTasT M)/

(C) ewaur’r_1Bleir B — @QuACLM (D) eneur_tBleir B, — evaiall
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30.

31.

32.

@3,

| 34.

3s.

ELISA test and WESTERN BLOT test are used to detect

disease.
(A) Typhoid (B) AIDS (C) Polio (D) Cholera
eredlem Gangenen wHmib Qeuervr’ L fieir Wenn”. Gengenes Grmis LBl
SRl LweTLHSDa).

(A) GmL_o"ourrqu@ (%MLW [=]4[=]
(C) @embiisrener eunsib

(D) smevgm it

Assertion (A): The President is the Supreme Commander of the Armed forces of India.

Reason (R) : The President is the head of the State and occupies the highest position.
(A) “A’is correct and ‘R’ explains ‘A’

(C) ‘A’ is correct and ‘R’ is wrong
Snb)

(B) “A’is correct and ‘R’ does not explain ‘A’

(D) Both ‘A’ and ‘R’ are wrong

'+ BQWISS et @ESL YUSILIDL ST S Sars)
Lo

SMIESTLD © OWWISS Fewavaurt BT 16T FenavaugTaayh LA 2 wiks LS
Blaevenwud uSs@pmi.

(A epmy &M, smyewrid FaDmIESTET Filwmes aflendsLom@Lh
(B) sppy &, snpewid smppidarer sfwmer aorssiosiey
©) &mpmy &M, smyewrd soumy

D) &ppy, smyewb @ueiGd sy

Who introduced the Local Self Government to India in 1882 ?

(A) Lord Curzon  (B) Lord Wellesly (C) Lord Rippon (D) Lord Hasting

2 6TeTTL &) gyevioliysenen 1882 ob @3B wnadley B p&SLILBSBweurt wmr 2
(A) &igenr Ny (B) GleuebGlevaival) L9y

(Crvilciuesr gy (D) Gameivig e Iy

Where is the headquarters of BRICS Organisation located ?

(A) China (B) Brazil (C) Russia (D) South Africa
Yiféen gyeniolieir seeveniowsth GTI(& ILDBSIGTENG ?
(A) e (B) L9Gr&ev (O papwn (D) GserermiidNssm

The disputes between Central Government and the State Governments are adjudicated by
(A) Parliament (B) High Court (C) President (D) Supreme Court

wgBwi-Lonflev ypFnBIsHSHT @ ufovrer Hésamman 81551 emeud@Ld yeLoLIL] 615 ?
(A) Bm_memesTmLb (B) 2 wid®weimib

EYE
(©C) mywrss sencveurt (Dh 2 s&#b80eimid ‘E?gﬁ

Which of the following State have a common High Court ?
(A) Tamil Nadu and Andhra Pradesh (B) Kerala and Telangana

(C) Punjab and Haryana (D) Maharashtra and Gujarat
Bpéangyid 15 wilevmisdr Quigeuner o wigH Lemsens Clummisrerear 2
(A) s0pETH wHpmib BT Gssd (B) Gsyerr pmitb ClseymiETeTT '
(OruEsents wpyib ewMuwnesm (D) wanmgmelg om wpmid @egoms;
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: 36. * Which Indian has won Nobel Prize in Economics ?
(A) Kailash Satyarthi (B) Mother Teresa
(C) S. Chandra Sekhar (D) Abhijit Banerjee
Qur@ensTisBd Crrush ufs Ceusp @EBuwit
(A) asevneay sSWMTISH " (B) yehrenar Qggar™
(Cherenv. #5680 Cosir (D) <9888 Guewigd
37. Which of the following is a direct tax ?
(A) Excise duty (B) Customs duty  (C) Income tax (D) Service tax
BpaumeueTeupyier 618 Grrips euf 2
(A) sevmed euf (B) &mis ol (CH aumones eurl (D) Gaenau curl
38, Which district in Tamil Nadu has the highest sex ratio as per 2011 census ?
~ (A) The Nilgiris (B) Nagapattinam @&
(C) Thiruchirapalli (D) Thanjavur E%i
g3 2011 sew&0ls® 1 f6iriig, sWOPET g6 aps Wil L SHd ureler alSsh
- he IPELONSE 2_GiTeng)
C L (A) o8 (BY) BasLiLL g ewth
_ (C) BwéSonticref (D) sepamayi
@ I) Nationalisation of banks was effected in 1969.
I) ICICI is a Nationalised Bank.
(A) Only I is true (B) Only Il is true .
(C) Both I and II are true (D) Both I and II are false /
1) 1969 &Slwipg eumiBser B HLewwréssd GEweL g6 2 6rars). -~
II) ICICI eteitLig) @5 CaSwbwionésiul i eum&)
(A) I @b &M (B) II wo” Qb &
(@] wpmtb 11 @b &1 (D) 1 wpmib 11 @rew@id Seumy
40. Stock Markets in India are regulated by
(A) RBI (B) Ministry of Corporate Affairs
(C) SBI (D) SEBI E¢E
QBSwrailey LKIG FHFs®en @UpRIEGLILBSSIMS 615 ? =
(A) @bPw Maie eums) (B) Gumw Floyeuer aNeusnykiser ojenindastd

~ (©) B Guris 1 @BBw (DN@BSw Lkg wHpib ufeuisseaner auriwib
ind out which one is not in the Food Qﬁality and Safety Control Agencies ?
(A) FSSAL (B) AGMARK (C) FICCI (D) FPO

. ':@mmm.u}gﬂsb 615 2 eWIa LYY FIS&L HILILTR HnjeueTtd jeve
(A) FSSAT (B AGMARK (&FICCI (D) FPO




42. Pernicious anaemia is a deficiency of Vitamin.

(A) Iron (B) Cyanocobalamin
(C) Folic acid (D) Vitamin K

Cuiaiaflust @uss Csrasmu empiGss0 2 14555 @enpun®

(AN@Q)BLoLjsas5) (B) swGenrnGsnuneviher
.! (C) o%Cumedd oyhevid (D) 2 uiissg8 K 56
i 43. An exampl_e for decomposersare | and ey ﬁ%ﬁ
, (A) Bacteria, Fungi (B) Bacteria, Lichens

44,

(C) Fungi, Lichens (D) Algae, Lichens
ﬁm,gt.’:umsmus@,ds@ T(hS&ISSTL (h &6 LopmILD

(Aywuingie Awngaser, NG r (B) ungefwréser, enevsGlascsiser
(©) yesemasen, mevslsciamer (D) Syevarisar, amedGscser
Identify the true statement with reference to noise pollution :

Statement — I : Noise is the unpleasant sound.

Statement — II : Reduces depression and stress.

(A) Statement I only true (B) Statement II only true

(C) Statement I and II are true (D) Statement I and II are wrong

@65 wiE &SV$s FMwmes UTEEISDS &6t s,

ursSwio-1 : @efentowspm Qegssevnes gal.

sun&&Swib— 11 : wer Gamiay (o) IWIsIms GonsE D).

(A) eung@uwib 1 wo” Hib oM (B) quna@uwib 11 " @b &f
(Cywums@uwib 1 wpmyib 11 swrengy (D) eundSwib | opmib 11 auprengy

45. Match the following :

Conservation Law Year

1) Project Tiger a) 1992
ii) Project Elephant b) 1999
iii) Sea Turtle Conservation Project c) 2020
iv) Indian Rhino Vision d) 1973

(A)i—-d ii—-a iii-b iv-c
(B)i-a ii—-c iii-d iv—b
C)i-b ii—d iii-c iv-a
(D) i-c ii—-b iii-a iv-d

Qurwsss : EIYE
- Conservation Law O} Year
1) yeSlaer ungisaiy S b a) 1992
i) wieverser LngysTIL S b b) 1999
iil) &L6b 9 emiomenr LTgyHTIIL [T ¢) 2020

V) @BSw sneimAmshss ungsTiy b d) 1973
(Ani-d di-a iii-b iv-c
(B)'i—a  ii—c iii-d iv-b
© i-b ii—-d iii-c¢ iv-a
@) i-c¢ ii-b iii-a iv-d
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46. The Vacuum Flask was invented by
(A) Kelvin (B) Antoine Lavoisier
(C) James Dewar (D) Pascal
Qauppl_d &Gdeumw HeT(HLgSSal T
(A) Qaevailer (B) yerQmiieir eoaumirerdlus
(OnGggrbew Gaumir (D) Limevs6L
47. While going for a ride in merry-go-round you experience an outward pull, this pull is due to
(A) Centripetal Force (B) Centrifugal Force EYE
(C) Electrostatic Force (D) Magnetic Force ﬁ%
GoL @l yersBed sppb Qunips, BEIs6T QaualGpréu Baauisd B8
aflangemw 2 ewTi&)iser, (@)eallensdd e & TJGRTLD
(Anenwow Crré@ allans (B) enwow aflevd@ aflens
(C) Pevev hleirasflweh allens (D) sz allans
48. Choose the correct pair :
(i) Atmospheric pressure a. Newton
(ii) Force b. Pascal
(ili) Mass ¢. Kilogram/metre’
(iv) Density d. Kilogram
(A) ()b (ii)c (i) d (iv)a
(B) (i) b (ii)a (iii)d (iv) ¢
(C) (i) c (ii)d (iii) a (iv) b
(D) (i) d (i) c (iii) b (iv) a
shwreT @enemanws Csih0ls @550 Lb.
(i) evefloewr v gy(pdsb A Byl Leir
(il) allens b. UTaVSEED
(iii) Aleop c. BGanm@gmb/LSL L
(iv) L 5S d. &CGevr&lgmb
(A) ()b (i) c (i) d (iv) a
BYi)b (i) a (iii) d (iv) c %ﬁ
(©) G)c (i) d Gia (v)b &
(D) (i)d (ii) ¢ (ii)) b (iv) a
49. Which unit is used to measure the intensity of sound ? 3ot N
(A) Hertz (B) Light Year (C) Candela (D) Decibel gt

gafluileir Qsflaunans c1b% SevSHTeD aral_LILIG& DS
(A) Gami e (B) gafl gan®  (C) Gseigaor  (Dh G HCL6

Boiling point of water is 100°C. Its value is equal to

(A) 273.15K (B) 212°F (C) 100 K (D) 200°F
Bier Qar@Blamew 100°C. @b IP G FoneTg)
(A) 273.15K (B) 212°F (CY 100K (D) 200°F

o —————



S1. Which country will host FIFA 2022 World Cup ?

(A) America (B) Qatar (C) Russia (D) Brazil
S5 BB oot 2022 2 wad CsmiienLianu) BLSSa 6Teng ?
(A) 9CloMéasr (Brsgsmi (C) papwnm (D) L9Gg&Heb

providing mutual defence to member countries from an attack

@ I) NATO is established for
by an external party.

[E4[E
IT) Russia is a member of NATO. m
which of the above statements are true ? .
. (A) Only I (B) Only II

(C) Both I and II (D) Both I and II are not true

I) NATO TG S5 Cleuels i e Mer S1é@geled @QmBg 2 miy BIHS eSS
LgeUT Lng&Tindnans Bloyeucin L g.

, II) peywr NATO feir 2 piliSengnas o eirensgy.
Cule CEn@R&sLILC L 586 §IbS FmpDm FAwnes) ?

(&1 o b B) II wor” @b
(©) I opmyub 11 (D) T wppyb 11 seupnengy)
53. Who is the first Indian to have won Golden Globe Award ?
(A) M.S. Subbulakshmi (B) Latha Mangeshkar
(C) S.P. Balasubramanyam (D) A.R. Rahman
Camevr_eir @Garnes eNmens GQLDD PSS @QbBwii wrtr 9
(Aserib. eraiv. &LiLjeuangih) (B) ewsn wriGsevsmi
(C) erav. 9. Une&LI T AWLILh (DN\er. i, paipomasr
S4. What is the expansion of UAV ? ESE
- (A) Unarmed Aerial Vehicle (ele: (B) Unmanned Aerial Vehicle
' (C) Unique Armed Vehicle (D) Unmanned Attack Vehicle
UAV @)eir afifleunssib ereire 2
(A}-Fwsircgm_b@ afliwed eurserb (B) yeronein® erflwed eunsenih
(©) yofléd i@ eunsemd (D) y@noness(® <_nd eurseTid
55. International Yoga Day is celebrated on
(A) January 30 (B) May 1 (C) June 21 (D) November 19
2 w8 Cunsn Hend eis Brafley Clsness_m_LiL@Spg ?
(A) gewreu 30 (B) Guwo 1 (CYlggoeir 21 (D) meutbii 19

56. James Chadwick discovergd the particle is

(A) Electron (B) Proton (C) Neutron (D) Positron
Cgroav smails saw(iyss giser

(A) erevslgnelr  (B) G’ _neir (C By prer (D) wmed gresr

(2




57. Statement : The reactiop t

58.

59.

60.

61.

Reason : Because irop 1s
A) both Stateme
(C; B nt f”ld Reason are correct (B) both Statement and Reason are incorrect
L. ; -Y@ a ’%meg 1S correct (D) only Reason is correct

3 LD RS
;gfh. GLY Ll ser IG5 55606 pevr QLimyh alenen g dherflgmGarpmib
STIGWILD © 610)ewrenf) 6y @b
(AYadmi LopmiLh &myesmp
(©) ®pmy o’ Bib &4

converted to its oxide,

Y 2iger ydensBsarns wapmiiuGib.

Qe R\ Ff) (B) @&pmi Lopmib smyemib @)reawm@ Saim
(D) smgewrib L @b &M @4E

Choose the correct acid and jts yse. E’E‘a

(A) nitric acid — digestion of food

; (B) sulphuric acid — bathing soap
(C) vinegar — preserve food materials

(D) benzoic acid — detergents
Fllwnear ohevih LOPHMILD S6T LIwicsTEemaT €23719%10)

(A) ewpL Mg onfevip — 2 ew16y LiGlun@persefesr Glafiomenih

(B) FoLy s ofevih — @ el Camiiy

(Challeflsi — o ewraywy Ounmenr Qs B Gursmoed @ wss

(D) Cuesrenuis syfevis — seveney Gamiy

Which gas is responsible mainly for ‘Taj Mahal’ turning yellow ?

(A) sulphur di oxide (B) ammonia (C) chlorine (D) hydrogen
STELOADTGC), LDEFFT BDLoTs LTDIUSD G 6ThS QUTL| (LhEFW STITLOTE DS ?
(Ayweburt enL 9 dens() (B) <ybCromeflusrm

(C) &Gerneir (D) eanigggeir

The most commonly used cooking gas contains LPG which means ?

(A) Low Pressure Gas (B) Liquified Petroleum Gas

(C) Leak Proof Gas (D) Low Phosphorus Gas

Cungiouns oBs yerailer LWETLFLD Feviowed eurualey o erer LPG eraiLisy)

(A) 5opbs I(pss aumuy (Bh&®reuwnésiiuc L Glul Gredw eumy

(C) sfeuewL_wis aumy (D) @eomis urevLIgean aumyy

Who is Greta Thunberg ? %

(A) A Scientist Y (B) A Holywood Actor

(C) A Tennis Player (D) An Environmental Activist for Climate Change

S8y L ge1Gluis eresTLIGT W ?

(A) @@ aflesepref

(B) @® aprailaj pysi

(C) @ C_creflov aigi

(DY,e® uGubl®e LOADDSSDSTET HDMIF S0 Y TaUcVIT
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62. What is INS VIRAAT ?
(A) Submarine (B) Warship
(C) Aircraft Carrier (D) Missile

[ &: 6. e1av. aITL eTehDIeh eTeires ?

(ANBT epip & sUiL6h

(B) Gumis sriued
(C) a9wresip SMTEIF) &1 561

, (D) sroysenem
i 63. Match the following : EIEE]
I (a) Ponn‘iyin Sellvan (O} (i) Seethalai Sathanar
i (b) Manimegalai (i) C.S. Lakshmi
)/ (€) Kuyil Paatu (iii) Kalki
| (d) Sivappu Kazhuthudan Oy Pachai Paravai (iv) Subramanya Bharathi

| (A) (i), (i), (iv), (i)
| (B) (i), (i), (i), (iv)
| (©) @), (i), (iv), (i)
| (D) (@), (i), (ii), (iv)

| Ourwggs

| (@) CunsireNufeir Cseveveir () Eszamev sngsemi
(b) weflGusamen (i) C.S. eaiph
(©) @uiled Lim” @ - (iii) @ev&)

(d) Souiiy supse e RO UFF Lpeneu (V) &Uigioenflus g
| (AyA(ii), (i), (iv), (i) '

| (B) (i), (), (iii), (iv)

| (C) (@), (i), (iv), (i)

| (D) (), (iii), (i), (iv)

64. Who is the President of Uk_r_ainé-?

(A) Volodymyr Zelenskyy (B) Vladimir Putin
(C) BorisiYelstinf' vt « « (D) Denys Shmyhal
: gséehgeiﬂsim@;q;mp'ﬁgj ST Wi 9
 (AYCanmengBi Qeween® (B) efeumg 1B 1jig gir

@ Gumlev eTevaivie it (D) Glcwraflsiv Humbanmed

an. 2022 which State has installed highest overall renewable energy capacity in
4 L T T E5E
o (B) Gujarat 5@
(D) Tamil Nadu
- BlevaugliLg, e15s wilew %95 Qsrererarey Sweir Csmevs_
1548 QHwed Hmjeuliul L G WPSlL_Lb uBEE g 2
i i ATOUE IR (B)"@gmr,s‘ v
3 (D) spprG)
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Which is wrongly matcheq 2
A) Igneous Rock — 1 ;
EC) i Rocl-:rfegsmne (B) Intrusive Igneous Rock — Sill
@aupBich andstone (D) Metamorphic Rock — Diamond
( SO DT @U”@E.@u-;'sirmg; ?
AY BUumenn — g65 .
(®)] ul@mﬂfnema;efrm”%q ey (B) car@pieiw Siiimenp — Sab

'T'D LoewmID LiTenn (D) 2 @onw uneom — eneugth
67. Mangrove Forest is located in district E¥E
(A)fu?)aﬁi:;r; -(B) Coimbatore (C) Dharmapuri (D) Salem =@
E@I L:_gy;rr}— ”@SWB_____ Lomeul’ L_g§6d yemLoBGIeTars).
Ayp (B) Csmunbysgrr (C) Sy (D) Gseuib

@ i:::ll-{tignﬂ}; fol.lowil'lg ‘Statements and answer the right option from the given.
Statement- Al‘lftolndraln 1s related to educationally specific selective migration.
" ; (4) UnmPIOMCnt and under employment are the reasons for Braindrain.
A Stt::: (B) : Country of origin is gaining potential leaders and talent.
(C) = ments (A) and (B) are wrong ~ (B) Statement (A) true, (B) wrong
- f_ﬂ;ﬁu el:nent S:% wrong, (B) true (D) Statements (A) and (B) are true
@LD &L [T« MIE.JGGU)G‘;T . . - . . . e - .
WUTED W s G505 0. &B5Ge) Clsnam® QsTRSSLILL (HeTereupmyer shwsmesr
DD - 2B L0l ererLIg) . Gs 505 () &s LUl L H6vall &t
: 5 L L1 uwiGaun( CIBTL_1LjemL_wigm@ L.
QUTESIWILD (A) : = OLIQ LI wTFF s em e T, : 3
Gmmmuﬂdrmm@ufi%w‘b G;(’; m-ﬁ@ GeueneveumiiLiLfeirenio LoHIILD &&SH&CHpL

aunrs@wib B) : 9pEs510H eiBisne smuaismanyth, Hpaiostadsmarib

o Ul o A ok

|
i
t

IR G-t g ISR e Ll
e

o QLS ).
- (A) urs@wib (A) wppid (B) seupy  (BY una@uwib (A) oA (B) seum
(C) aung&wiib (A) saum, (B) &M (D) eungSwib (A) wpmib (B) &4

3'9,__. Which country is the largest produce of platinum in the world ?

~ (A) India (B) Russia (C) China (D) South Africa
Werri iy et 2 PLFBuied 2 w&HBewBuw WsLIGuAW Fr® 151 ?
(A) @Bsuwr (B) gepwm (CY &ewm (D) Qseir gy i9M&sm

Drilling of oil wells is the hole drilled in the layer of the Earth. ,@%ﬁ
- (A) crust (B) mantle (C) inner core (D) outer core E
yef) geenf () aewblewiis Sewpisen Sjmwssli@mESDen ?
(ANGwGeavryed (B) a8 (C) 2.¢ir s@aded (D) Gleuadl s@madled
ind out the wrong pair.

(A) Mangal Pandey — Barrackpur (B) Rani Lakshmi Bai — Jhansi
(C) Velunachiyar — Sivagangai (D) Kattabomman — Nerkattum Sevel

(AN omiseLmaTGL. — LIMTSLT (B) grewflevL’ ablLimis — gnesré) ]
GmQy,gn#ﬁwrrﬁ — Sousnians (D) &' L QumbioeT — CIEH&LB)LD G’ermsv_

-~
o
.



72. Who discovered the direct sea route to India from Europe ?
(A) Columbus (B) Megallen
(C) Vasco da Gamma (D) Marco-polo

&CriiLmedeS mpa QBSwrelnE Grryg s e wifleow sev® iy sser wri 2

(A) Osnevibev (B) Guwsevevsir

(CyeunevCam_smon (D) wmiGsr GunCeur
II / 73. Who emphasized the unity of Hindu-Muslim ? %
I (R e (B) Adi Shankara ' '(C) Kabir ' (D) Meera Ba
f QIBgI, (LpeiveSid @bmienioenw weSluymys 8 weurr wiri o
| (A) @Qurwswgi  (B) 98 swisyi (Crsi D) Byr umd

Who was the outstanding leader of Palestine Liberation Organisation (PLO) which was
| formed in 1964 ?

(A) Yassar Arafat (B) Robert Schuman

(C) Konrad (D) President Nasser

1964 6b 2 Baunsasri urevavger allGsenev @ws&;ﬁ@m LOESSTES SEneveuT wmi ?
(A wrei oypmiig (B) g’ amoweir

(©) OQaneogm (D) @i prsi

(73 Who founded the Adi Dravida Mahajana Sabha in 1893 2

(A) Rettamalai Srinivasan (B) Swamynathar

(C)RD S S. Rajan ; (D) V.S. Srinivasasastri
1893 &b c&@.ﬁﬂ'ﬂaﬁt_ LoSTgeT FaL srsmrgum D|LDLIGDLI 2 (Heun&Sweui wmi ?

- (A) Ouenr_wenev Baflounssir  (B) seumbmnsir

LS auns srev@ M ELSE
o (E{’VSggfsrﬂ o) ‘@%ﬁ

' '1aﬁh" 4 (B) Kaaval Uthavi (C) TNPOL (D) TN POLICE
( _ sm,mmnd: B9 LoSSET LINGISTLILES1S SLOLSH60 G\ m_misL i L

(C) yeraGuimed (D) 19 e167BLineSaiv
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wh

©1¢ Was underwater Archaeological site Museum established ?
e (B) Korkai (C) Musiri (D) Poompuhar
g 7 © BG4su06 Opneveduc sorb SymaEm Auist He0EsL

I.M‘l.bum.ﬂ. (B) @smbm# (©) W (DY \yibryami
El

Tag at the Toll Gates uses which waves ?

Infra Red Waves e

19 (B) Radio Frequency Waves

IsE E1aug sefl e GaT o% . :
L Guin® éﬁﬂu@aﬁ]ﬁ)mﬁfl SPLIMOVL. L_Md-6D 6ThS M &HisH6iT

5.%9,'5 oy syavss)i (B) @iy Guir gyemeveuflans
LD 23T st (D) mievr yemev &S

fatch the following : _

- Country Year of Independence
) a):1971

b) 1948

c) 1949

d) 1947

[ =PI e I ]
(=T~ = P =

&SHSd QDD aumHL_Lb ~
a) 1971
b) 1948
c) 1949
d) 1947
d
. B
a [E*#

d

2 A6 0

s the author of the book ‘Keezhadiyil Ketta Thalaattugal’ ?
enkatesan (B) Erode Tamilanban
(D) Karthik Subramaniyan
5L L STeUTLBEET CTeHD HIeSIET S Mwii w2
(B) #Gun(® SLOlpeiTLicH
(D) snig®é sLlgLoentiwe
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: : | PART-B: Psychology | :
] 81. Complete the following :
- i If I had had money,
(A) I would invest in the business (B) I will have deposited in the bank
(OYT will buy a car (D) I would have donated
82. Choose the suitable question tag.
Nobody called, ?
(A) do they ~ (By didn’t they - (C) did they (D) don’t they
83. Choose the correct passive form, Oki0)

The manager appointed many office assistants. O}%
(A) The manager were appointed many office assistants
(B) Many office assistants appointed the manager

(C) Many office assistants were appointed by the manager
e (DnhThe manager was appointed by office assistants

M 84. Choose the appropriate word for the following : R R
“any building of a past age, regarded as a historically important place”.

- (ANExhibition (B) Laboratory ~  (C) Monument (D) Sanctuary
- 85 Fillinthe Blank. '
1 ‘ If your friend always thinks the best will happen, she is

(A) Humorous (B) Optimistic (CY Creative (D) Frank
- 86. Choose the correct meaning of the idiom “a couch potato”.

(A) A clever person (B) An important person
(C) An idle person (Dn An ideal person ~

. Choose the option which has logical relevance.
~ L ‘Fine’ means healthy

‘Fine’ means the amount paid for punishment.

e above sentences, the word ‘Fine’ is the example for ‘Homophone’.
Ise IT is true (B) T'and II are correct

s correct Il is incorrect (D) I'and II are false

I) Adverb Ox 0]

IT) Noun Ce

III) Conjunction
- IV) Adjective
OIVINM  (©QUIIVII (D)IIV IO
j gﬁ‘if abiy k '
e suitable conjunction.

(D) otherwise _

(D) forsaving




\ 4.

\ _ -19- D

ﬂ'. 91,»§Lb+ o ufli ﬂ'GiTUgsmm&; G‘*‘i’ﬁ'.ﬂ . " 2 .
j P54 Flant_ GlFme
(@) sesdi B g, g

z (C) sboufi (D) supudi
9. pelWpIBe) eTeenih Qo

(A B + whged : _
¥ i '-.%?fﬁ‘i’m! + g6 (B) meirs) + oypized

L (D) peingy + wpzed

Yy Ly & ’,‘:FGU&GU‘- F.G]&' - 4 . " E, g P

O Oeeaian iy Bodeomt ofiemus 0515050,

- © UeTLS Ggmenaseir (D) aflenens Gzrensser

. dpeilevar Sjsvevns Glenp, CDr_eny sem_fa

(A) SAuerens 5 g ClFuig mair (B) spans wsamen perpisls Ly ss eaigsm
L/eusit BB (D) weireflé@Ls Lsssmimer aipadssi

95. @Qﬁﬁﬁﬂwﬁmﬁ 2 WSS CST_angd seim e
fé.\)?}j@ﬁ,‘?“’m"ﬂ‘i’ SUpsseNeni Licurt mn@ﬁg@wﬁ Ol

(B) Glpebenevuilsh Sp&sallenit Lisurt U ML QUi 6T ‘

: & SLlpdsadenit Licu UMP B ATs i

- GBebeneuuahy Slp&sallerit Lisurt UM BT Tigs 6T

webLiepith eNPugsyib Hesmy 2 lipeir sagL OG- eler_&Cann alerT Hyeniods

‘?\_@mdﬂ.‘ﬂg@u_ﬁ NG ullayd Heirm 2_ufiliipeir emsmg LB@gb ?

@wéﬂﬁ?@ﬂ? aSullepib Heirn Quowiipeir erepau @b ?

spnl 2 Quwrsss Qem i
A) wppi &, wmpmy 2 seum (Bha&pm 2 &, sapmi 1 seumy
) Fmml 1, 2 g (D) yewandgib seaumy
98. _éhuﬁmﬁv SnGar eupg eTisgyh ugmugGLo’ -@)eieuguiled ‘LgmuIGL’ eTeTLBeH
olLIM(BGIT wirgy ?
A) 8oner GLimmGer (BN Guoevrasr QluimmGer
% GueGoamrer QuimmGar (D) @QurmGer

9. ‘GLas8L B’ -e16i Sp0lensiassTar, YyRuSws CQsmwmad Gsis
(A) Visa  (B) Migration (C) Immigration (D),Passport

b @ iFClFnHE®ents QLS8 s E5E
- 1) ygeuei Ol
- i) =g
- iii) epped
V) 2 paiei
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Magicians

'l"li'i ~T> Philosophers

i ' %ﬁ
All historians are magicians 4
(B) Some magicians are philosophers as well
(C) All historians are either philosophers or

_') Some historians are philosophers
0.

as historians
magicians

u@sauuf_l_ UDILIL_$G)6HT ppeud Bipsain(peien 6165 IPGans o eimenin ?

wpBreuns
s

@"bpnﬂfﬁwﬂh@ = Wdsna Ty

A) 6TGVGVT TGV MDD T&) Mwi(mLh LpSrairs yeuit X
| Blov pSranBser si500nRunsab, agrdpIRMLITEa)D 2 drerart X

eTeveVT TIPS MWL @6 $é8icueumdwnsGeun e LS reTswrsGes
2_Ganeuric

Y B eugeunppr@lwiser sésieueuns gyeui . 3
_ is to the South of B and C is to the East of B, in which direction is A with respect to C ? o E
) North-East (B) North-West (C) South-East (D) South-West B

et6irLig) B 4@ Gspansaw, C aeinug B &5 Sypssmsan @@isme, C g
moigseaueng A 615 Beansuiley 2 ererg)

- (A) awL8ypse  (B) wGupg  (C) Gser Bpss (DY BisarCp@
105. Choose the Venn diagram that depicts the correct relationship among the three groups.

gs, Pets, Cats Ll OO
: (B) ©) O (D) ﬁ%ﬁ

epeir  GusseiaL G shwnenr 2peneu 3sMéGL Gl UL Sm5s
CaitpOs@éaad. : .
BTLIHET, @qma}uﬁgrrsuﬂam Lemanser

@ e Oponi)

@0







% DD LiL e, STEEDN (1pd Gasemiisascir 2_cirene.

3 / m
r’ é Eﬁ A

(&) 10 (B) 12 ©) 13 (D 14
112. \ hich of the diagram Tepresent the statements ?
Some musicians are teachers
§bme teachers are players, but
— No musician is a player.

| 5 Jw,,,
& (D]~ i

L) G UL 86 e1gy Qsn@saciu Geirer urESwhiser GBS ng 2
- 8o @enswenioliLineriaer S Awirseir

ﬁw 2 FRwiser aﬂmmwm.‘.@ afgigser, %aﬁmb;
55 @Wummﬂumﬁsqgtb aflenerum @ afgiser @)svenav

d%b ® D © OO o

k the odd one out.
65,64

i (®) 8 (©) 65 (D) 64
: @@%m sTeenast 61(5) 531 ;s'r@g;ﬁ.
8,65,64 L Bp
» (BY'8 (©) 65 (D) 64

1121!1 nks s-cventh from the top and twenty sixth from the bottom of a class. How many
udents are there in a class ?

(B) 32 (© 31 (D) 33

{3
A
-
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L
Every rational number is a real numbers.
Every real number is an irrational number.
correct (B) 11 is correct
C)b th I and II are correct (D) both I and II are incorrect
I }ﬁd«un@ D5 Lpmy eTavTemILh Glou 6w %
Gy CodiCueTgmih aIESLLDT erevy.  EE
1 a1l & (B) 1l ereirLigl &1
1 wppid 11 @uein®i & (D) 1 wppytp Il @uaim@id 510!
ind the odd word.
(A) (B) Sword (C) Knife (D) Axe
Sal3DBSGLD VTGS WS S6v(h)LILg-
(B) aunsir (© =58 @y Bam_mf
ange the words in meaningful sequence. :
}Feafring 2. Cotton 3, Cloth 4. Thread
DYal, 3 B) 2,4,3, 1 ©) 4,2,1,3 ©) 3,1,4,2 i1
:is’;'i,s&mﬂr Sissparer auflarsuieh HBHES LD p B2 » 8 eill
3 2. UBSH 3. gewfl 4. mrev
2:4,1,3 B) 2,4,3,1 (G421 D) 3,1,4,2
£B and E is to the left of

are five different houses A to E, in a row, A is to the right o
right of A, B is to the right of D. Which of the house is in the middle ?

| (B) B ©«C (D) D
 E aiems @@ afensuiey gis eI ser o erares. A ereiig B et auav@aiid, E
C air @)L Baib, A aileir aiBLd 2 GTaTF]. B ereirig) D 61 cuav@le 2 6irensg).

p®adled 2 eTeng ? ESE
. (B) B © C (D) D E%

is his new rank from the end ?

: (B) 26" (C) 27* (D) 28"

iseir Lig @1 au@Liisd @ Anieuss 20aug Coris Clppyeremes. @)res (b

Gungl 18 ST auflens STl @@phgeTeng). HenL_Fuiled @)mHS5

pauflens ereitew ? } 9
212

09

B (B):26" (Cf 27 (D) 28" 2
S
|
1‘ 2.0
[
B o

Bt
) T
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125. Among 5 weight lifters P, Q, R, S and T, Q lifts more weight than P, but lifts less weight than

126.

127.

T. Two of them can lift weight less than P, S does not lift minimum amount of weight. Who
among them lifts the maximum weight ?

(A) T (B) R ©€) Q (D) S

S uengid@Leutaefisy (P, Q, R, S wppyib T) Q yeuit P ol 995 arenL_amw
SN&& S, 36&7”’&1, T @ il @ewpaunes eren_enw GGGBDTT. jeuiseie
@meur P g oL @epis erev_ow grés wigu. S GOPDHSLILF eTenL_anil
grésaileoame. @euisaled, wmr JBELL & erenL e SNSGSpi ?

(AT (B) R ©) Q e S g
Match the following : E]gEI
i) Co-efficient of range 1)4:3 @
i1) Co-efficient of variation 2).3:2
iii) 32 : 24 3) Zx100%
X
1v) Ratio of 3 m to 200 ¢cm 4) %
.+.
(A) 4,1,2,3 (B) 2,3,4,1 (C) 4,3,1,2 (D) 1,4,3,2
Qunmsgs. 300
1) afdsstlsp 1)4:3
i) omyun’ G&6swyp )35
o T I P
mn) 32:24 3) —x100% “
X b
1v) 3 18 @b 200 Q#L8 &L 2 eiter aG)sLb 4) -IE-% nx S
+
(4) 4,1,2,3 (B) 2,3,4,1 (@02 . (D)1,4,3,2
Construct algebraic equations for the following verbal statement.

Ravi’s father’s age is 5 years more than 4 times of Ravi’s age. His father’s age is 33.

(A) 4x-5=33 (B) 5x +4=33 (C) 4x+5=33 (D) 5x—4=33

tesremLb eumiiClonflé spmis@ CQunpsswner Qubsells FLOTLITE o (HaiTsEs.
gafliflesr yLimedlest euwg) paufeir auwBeir 4 oL migL 6l 5 @8 gt L Sevi_LiLig) 24(&Lb.
paflufleir yLiLneller auwg 33 y@Lh.

(A) 4x—5=33  (B) 5x+4=233 (C) 4x+5=33 (D) 5x—4=33

The triangle with perimeter 12 cm can be ESE
(1) An equilateral triangle
(i) Anisosceles triangle i
(A) Only (i) is true (B) Only (ii) is true
(C) (i) and (ii) are true (D) (1) and (ii) are not true

12 Gle.16 spperaysiter wp&Gsnewmmiser (siTeuBLOTD) HeLoWweVLD.
() @O FwLUES LPsCsTETONS SeOLOWLIGTLD.
(i) v QBewuss paCaremons IeoweLb.

(A) (i) L@ &M B) (i) o @b &
(©G) wppp (ii) & (D) (i) oppicb (if) seupy < b
£1
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1 1) ..'m. j}rs“_“_.i e ¥
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@ e _(C) . 580 e

(D) RS e
! f R ~":~'\_’._ _.. Lhves E Ak i : f __
S 2 (134'135) ques'ﬁbﬂshasedon thebar graph* 38 % £iD (A
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| Si
uenailufed 5 qg,ﬁtﬁtumsm 2 eireneurii. P opmith Q & flwiser FLevSBsLD LHDILD SewnflgLd

apLilé@priser. R wppith Q HAMwiser sefigd P wTewTn SHLIESDTisHET.

S wppib P y@Awiser aflps wpmh swev&Bsh splis@prisdar. T wpmib Q
- yPfwiser yalulwed Ppmyd evGuedlay &mLs&DTis6T.

36. Who among the following teacher was teaching less than 2 subjects ?
' (B) R
(D) There is no such teacher
T @ Nwiser 2 LT EISEhE@ Gmpains 1B miser.
' ' (B) R
(DY W68 P Awm @evene

(B) Q opmuid S %ﬁ
(D) @8 ergiayd @evency B

(B) History and Hindi
(D) Spanish and Sanskrit

-29- D
Inmhlchyear is the population of city B exceeding that of city A by 20% ?
(A) 2010 (B) 2015
(©) 2020 (D) Both 2015 and 2020
- aBs gemged B parsBlen waser Qsrens, A psrsSer waser Qsmesaw oL,
20% S sons 2 erengy ? . E3E 2" .
~ (A) 2010 (B) 2015 Bl 9& a.a‘ﬁ:{
@©n2020 | (D) 2015 wopmtb 2020 @resw(Ld o a::‘,m
Answer the following 3 (136-138) questions.
In \ school, there were five teachers. P and Q were teaching Sanskrit and Maths. R and Q were
eaching Maths and History. S and P were teaching Hindi and Sanskrit. T and Q were tcac:hj‘;l%L g ?
graphy and Spanish. g I v P 200 T)
Bpsein 3 (136-138) afawndsendsa ollen weldsa)ib. RS R







